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. . | Swbljw Spunfud w)wb
nn nrpjLs wyn punud’
C
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1 2 3 4 5 5]
1000 CLALUBLE BLuunrsuee 4236744.237 | 3365716.350 | 871027.887
{tnnn 1100 + winn 1200+wnnn 1300)
win pynid
1100]1. IUPLED B4 SNEMPRED 7100 | 1095844.965 | 1095844.565 X
{tnnn 1110 + winn 1120 + winr, 1130 + winn 1150 + winn 1160)
wyn pynud’
1110[{1.1 Snypwihl hwphbp wzwpd gnuyphg 7131 391391.965 391,392.0 X
wyr pynud’
Onyypwhwpl hwdwilpbbph Juwpswlwi mwpwsplbpnud
At gunlbunn 2E0pbph L zhGnepyneibBph hwdwp, nphg’ 230000 Sl o
bhaohlwlwi whdwhghg 16,000.0 16,000.0
hpwdwpwiwywliw widwbghg 7.000.0 7,000,0
1112 Anrh hwply hwdw)Gpbtph lil:.l..lr'l-i'l.l.ll.{UJEI nwnwaplbpnud 21,0000\ 21,000.0 X%
gunlynn hanh hwiwp, nphg
Syun. Gpwlwynepywl hnnbp 16,000.0 16,000.0
ns gynin. Opwhwlneg)whb hnnbp 5,000.0 5,000.0
Ulzwind gnugh hwpl, npha' 347.392.0 347,392.0
Ulizwind gnueh hwpl /hpwdwpwbwlul wiawlgha! 51,185.239 51,185.238
Wuzwpd gnyph hwply Aphghlywilwl whdwlighg! 296,206,726 | 206,206.726
1120] 1.2 Onypwihl hwplbp wj) gnijphg 7136 627000 627000 X
wjr pynti’
1121] 9nypwhwpl hnfuwnpwshenglbph hwdwp 627,000.0 627,000.0 x
1.3 Uyypwiplbph equwanpddwh Ywd gnponibnipjwb
L hpwlwiwgdwh pagpunynpjwb Jewnplkbp g2 SR v %
wyn pyned
1131 Stnwlwh wnnppbp 71452 59453 59453.0 X
{tnnn 1132 + winn, 1135 + winn 1136 + wnn 1137 + tann 1138
+unnn 1139 + innn 1140 + inn 1141 + i 1142 + innp 1143
+unn 1144+4innn 1145+wnnn
1146+nnn1147 +innn1 148+uinnn1 149+wnnn1150)
wyn pynid’
w) 3wdwbph wwpwspnid Onp E0pGph, ZhonueynubGaph
1132 (Obpuwewy ng hpdbwlwG) zhGwpwpnupnd (nsnwgpdw) 11017.0 11017.0 X
prcjpundnipiul hwdwn (Linn 1133 + iinn 1334),
nppg.
1133 wil) ApdGwlwh phGnipnlbbbph hwdwp 10,985.0 10,985.0 X
1134 wpe) N hhdGwlwG 2hinuenddboph hwdwp 32.0 32.0 X
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p) Fwdwjlph Jupsuwlwl nwpwspnud 260e6RR,
zhnupnibGbnh, pwnupwhlwlws w)p opjEynieph
Ubpwlwenigdw, mdbnuadwi, depwlwlqbiwi,
wpnhwlwiwgiwd wphnwnwiplbn (pugwenipudp 33
onbhunpLpjwlp vwhiwbws” zhlwpwpnpuwh
pryjpnynipinil suwhwiedon nbwptnh) unwpbn
pnyundneppul hwdwp

458.0

458.0

1136

) Iwdwbph qupswlwh wwpwdgnud geleknh,
2hGnupnilGbph, pwnwpwzhlwlws w) opjslnibph
puwlniwl prypnynepwd hwdwp

125.0

125.0

1137

) Jwiw)iph tnwpwdpnd ngbha fudhplbph L (Guwd)
Shuwfununb wpownpwieh Qudweph, hul hwbpwghl ubbnh
oplnlbnnid” ngbithg fudhseGtph L (Ywd) Shuwfumnh
wpnwnpwiph hpwgdwh prcindneggwl hwdwp, Gngl
pulnelf’ E

22,400.0

22,4000

-ngbhg fudhiplbph hpwgdwh hwiwp hpab. zh0 Gbpunud

11,556.0

11,556.0

-gfuwfunnh ppwgdwd hwdwp hhdlwlwb zh0 Ghpunud

10,844.0

10,844.0

1138

) Jwdwybph mwpwépnld pwgopw Juwdwnp
bwgdwlbpwbie poypndnepiuld hwdwn

550.0

550.0

1139

q) Jwiwbph tnwpwépnd hbnnly Jwabbph,
nbhubhlwlws hbnnyibph, henauywadwd qugbnh
Guwhpwéwh webwnph Yenbpnud hbnnly Jwabhph,
unbhubhlwlwd hbnnlyObph, hbnnuwadwd guabiph
Juwwngh prgnynipiwl hwdwn

5,200.0

5,200.0

1140

t) Swdw)iph nwpwapgmd welinph, hwipwiht uGGnh,
quwpdwlph, pwhnuing fuwnbph b dhwiwhewntnh

Lwadwlbmydwd opalnibpp, pwnlhpbbpn (wnbwbEpp),

huwnwnbbpp dwidp 24.00-hg hbun w3 fuwmnE| ne
pocjndnepjwl hwdwn

1,800.0

1,800.0

1144

0) Iwdwpwnwpwiht Guwendbbphlt hwiwwwunwuhwl
Epluwh pwnuweh b punwpwh hwdw)bpdbph nwpwdpnud
plnwih Yeonuwihibp wwhbine payngdnepjwl hwdwnp

1142

B) Jwdwbph mwmudpnud wpnwehl gnwan wknwnpbin
puylunynigjwl huwdwp

10,872.0

10,872.0

1144

dw) Fwdw)iph nwpwspnud (pwgwnnipjwip pwrwihl
huduGplbph) dwpnwmwn nwpunt {puguenLgwdp
bpgnunwihl mwpuhlsph) dwnwnepmll hpwlwboglbn
poyjiundnepjwl hwdwp

60.0

60.0

1145

dp) Rwilbwpdbp denwnibphg wwwnpwundwd hpeph
Guwbpwdwh wenuwSwnph prgudnigwb hwdwn

150.0

150.0

1146

da)wiwjugh wldwunup Shpuwhl wiwunodubpnd
pguwgnndbine prcjiundnugwlb hwdwn

600.0

600.0

1147

dnhowbineelibpnud | Ypwwsprud wnulbluluwl
hennujubph Juéwngh poyudnogywl husdunp

1,840.0

1,840.0

1148

dh)Fwdwyuph twpuwdanud hwbipuy b ubilinh
Lwguuwlbpwdwl W hpwgdwl poygpadnegpwl hudwp

2.240.0

2,240.0

1149

Ingbhwligquinh Shuwlwinwpnuz)wl bwawnuniilbph
hpwywlwgnut

2,000.0

2,000.0

1150

Lwnwnlbh, nhulynnblh, pwnlheh, swntbwh W
2ngbpwnUheh hwdwn® epwgnugupl uwpuw hudwn

40.0

40.0
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1150

1.4 Uypwlplbpp dwuinwlwpwpnudhg b dwnwynipinlGobph
Gwwnignidhg w) wwpuiwnhp yéwnplbbp

wyr pynLd’

7146

18000.0

18000.0

X

1131

Awdwybph pyneel Jowpdpn wbmnwlwb omnpebp
{nin 1152 + wnin 1153 ¥
win pynud

18000.0

18000.0

1152

w) Pwnwpwahuwlwi Jwanipjwl wipmbp gpuwbgbpne,
nnwhg dwuhl pwnwpwghbbphi GpyGwhh JYwwlwbbbn,
pwnwpwghwlwh Yugnuppul wlhwmbpned Guanwpdwd
gpwnrnudbbpnud thndinfunug UGk, (pwanudlbn,
nunnnudbbp uwrwpbpow b Jepuwluwbgbdwh
Luwwhgnepjwdp JUwpwlwiGsp nwpne hwdwp

3,000.0

3,000.0

1153

p) LnunwpwlwG gpuubbpuyioph Ynndhg Onunwpwiliwb
dwnwnepne0ibp Ywinwnpbng, Gnuwpwlw Gwpgnyg
Yuwybpwgld dwunwpnpbph pbbophbwyibp wwpn,
Opdwéd Gunpdhlbtph Ynndhg gnpdwpglbnh Gwhuwgdtp b
nhdnuilbp Ywadbne, qruumwpnpbpp wwondbibn hwlbnt
L npwhghg pwndwdpldbp wiwnt hwdwp

15,000.0

15,000.0

1200

2. muUGsnuUyUL arurucunMueEn

{nnn 1210 + tinn 1220 + vinn 1230 + winn 1240 + i 1250 +
wnnn 1260)

win punid’

7300

2685635.287

1814607.40

B71027.887

1250

2.5 Clhpwaghl Gbpph0 wwawnnbwlwh npuwdwzinphibp’
unwaglwd Ywawwpdwh wy dwlwpmpwulylsphg

{tnnn 1251 + o 1254 + uinn 1257 + ninn 1258)

nphg

731

1814607.4

1814607 .4

1251

w) Mewnwlwl pyjneebhg plwlvwlywd hwiwhwppbgdwl
ubgenibpny tpwdwnnpdnn gnunwghwibp

1,811,557.0

1,811,557.0

1254

p) MEwnwljwb ppneebhg wpwdwnnynn wyp nrunwghwlbp
win pynid

g

a

1255

pt) Fwdw)lph pnpbh BhwdnunGbpp Odwobgbng’ 33
onbbpltph Yhpwpldwh wpnnoienod hwdw)Gph ppneekh
BYywdnunbbph npnwnbbph whwneewi Ynndhg
thnfuhwinnugynn gnudwnpbbp

1256

PR} wj| nounwghw(tn

o

1257

g) Mewwlwh pincpthg inpwdwnpdnn Gwwwnwluwghb
hwwnlwgnuGlbp (unipEOghwibn)

30504

3050.4

1260

2.6 Yuwwyhunw| Gepphl wwnmnbwlwd npuwdwbnphibp
unwgywd Juwrwdwpdwb wy dwlwpnwlyGephg

{tnnn 1261 + winr 1262)

wyn pyned’

7332

871027.887

871027.887

1261

w) Mibinwljwlb ppneebpg Yuwwhnw) dwhiubph
PpOwbuwynpdwl Owwwwlwihi hwnlwgnudbbp
{unLpdEGghwibp)

871027.887

871027.887

1262

p) 33wy hwiwGpbbphg Yuwwhwwy dwhivknh
Phiowluwdrpdwl Gupuwrwlnyg uinwgdnn wwpaniwlwi
npwdwzinphibn

nphg’

1263

Gpluwl pwnueh hwdwpwnwpwihb 0wlwlnpjwl
dwhuubph hlwluw]npdwl Owunwlnd dlwdnpdgwd

dhonglbphg




Swpblwh danfwd uyjwh

Snn Fnnywd wjn punud’
h NN ELywdmumnbuwlbbpp h NN E{DUqELiﬁuthn T T
it ey Ly
1 2 3 4 5 B
1300|3. USL syUUNESLED 7400 455264.0 4852640 0.0
{nnn 1310 + winn 1320 + winrp 1330 + winn 1340 + wvinnp 1350 +
wnnn 1360 + winn 1370 + tnn 1380)
wyn pdnud’
1330(3.3 9nuph Jwpdwlwpnpjntbhg Bywidnunlbp 7415 43792.685 43792 685 X
{tnnn 1331 + winn 1332 + winn 1333 + 1334)
wjn pynud’
1331 Fwiw)bph ubthwlwingndd hwdwpdnn hnnkph 32115715 32.115.715 X
Juipdwlwpnipwl Jupdwddwnlbp
-gnenwwnbnbuwlipul Dpuwbwlnupwl 19,142,667 19,142 667
-nj gjninwninbuwlwi Gywlwlnipwi 12,973.048| 12,973.048
Fwdw)Gpp Jwppwlwh nwpuspnod gurnGynn whuonggjwh b
hwdiw)oph ubhwlwbmppuwip yuonlwbnn hnqwdwoebph
19de Luwnniguwwwndwl ppwynilph nhiwg qwbadnn 2.219.77)  2:218.77 X
Jupawydwnplbp
1334 Uy anyph Jwpéwljw npntbhg dncnpbp 9.457.20 9,457.20
3.4 Jwdw)bph pjnipbh BYwdnunibp wwpwbpbbph
190 dwnwlwpwpnwdhg L dwnwjnipniGibpp dwanignidhg i “EHBN SRR A
(e 1341 + innn 1342)
wjrp pynud’
Juidw)bph ubthwlwhnpod hwinhuwgnn, wn synud’
tnppwgneply, hwdwybphl npubu uBwlwbnpynud whgwd
1341 wypwhplbph (pwgwenupjwdp hpdbwlwb dhpng, ns 0.00 %
Oynepwlywl Ywd pupdpwpdbp wimbd hwinhuwgnn, bbby '
Owl hwdwybph wwhwembbpnod wwhidnn
wwnwhpwhnipwlwh wpdbplbph) dwiwnephg dnunpbp
Mbwnnipjwh Ynndhg wnbnuwlwd hiplwlwewwpdwd
dwpdh00ephl wwrdppwlwé (hwgnpneppnillbnh
L hpwlwiwgdwd swhueph Ihliwlvwdnpdwl hwdwp 3998.00 3998.00 X
whbunwlwb pjnipbhg unwglnn dhonglbp
1350]3.5 dwpswlwb qubdnudlbp T422 395473.30 395473.30 *
(rinn 1351 + vinn 1352 + tnnn 1353)
wyn gynLd’
1351 Shnuwlwl JSwpbbp 343373.30 343373.30 X
Swidwjugh twpwbpnud 26Leh Ywd 2huncepwl wpunwghu
wnbugp thnthnhunn epwiwenugdwl weiswwnwliplbsnh 50.00 50.00
pralwndnpwl dlowlEpudwl Swownuenuuiubnh : !
thrfuhwunnegUiol 4w
LLwubwpnudwyuwl Swnwnueniilbphg déwn 1320.00 1320.00
Bunnulwl Jéwplbp 158748.30] 158748.30
Unpwhwbnuegwl Jbwn 160255.00| 160255.00
Chiwpwpnuppul wiwpnp hwonwgpbne hwdwp 5000.00 5000.00
Chinugnublbph 2whwgnpduwl gy, hwdwp 5000.00 5000.00
Upgniplbp b wénipnlbp Guwgdwlbpubing hbn Guwgdwd witu 13000.00| 13000.00
Swdw)ipp Jwppwlwd nwpwdpnud pbplwywd Qwenigywd
e 260pbnh, 2hGnupnuGObph ophGwlwiwgdwh hwdwp Jéwplbp 50000.001 :50000.00 A
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Onblgny uwhdwlws nhwpbpnud hwdw)Gpwh
hhdGwnplbbph Ynndhg wewlg mbnulwi tnogpeh guidiwi
duwinnigynn ownwinipnlblspp Guwd yuwmwpdng
gnpannapntiibph nhdwg uwwgnn (guiadnn)
Jdwphbp/lbpuwhwugbwdnpnud/

300.00

300.00

Fuwlgnip|wl hwnny uwwuwpynwhg dnuwnpbp

1800.00

1800.00

1360

3.6 Ununpbp tnnydtphg, innuqubplbiphg
{tinn 1361 + ninn 1362)
wyn punud’

7431

12000.00

12000.00

1361

duwpgelwd hpundwhuwhinnudbbph hwdwp mbnwlwi
hOpOwhwrwdwpdwl dwpdhGhEph Ynndhg
wwrnuupuwbwnynipywh dhenglbpp Yhpwanodhg
olhwdnunbbp

12000.00

12000.00

1362

Unuinpbp hwidw)Gph p];‘tLQbh Olwwndwdp vnwbalwa
wwjdwhwgpwh0 wwpnwynpnupnlbobph shwwiwpdwh
nhdwg quildynn wngdbnhg

0.00

Uhuwinwlwquh pwpnninup® 4‘;'1“5;
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